Note Title 4/30/2016

1a) Energy is conserved 
$$\Rightarrow$$
  $\Delta U_1 + \Delta U_2 = 0$ .  
 $\Delta U = (\Delta T) \Rightarrow \Delta U_1 = ((T - T_1) = -\Delta U_2 = -((T - T_2))$ .  
Therefore,  $2(T = (LT_1 + T_2)) \Rightarrow T = \frac{1}{2}(T_1 + T_2)$   
b)  $\Delta U = T d S \Rightarrow \Delta S = \int \Delta U/T = (\int \Delta T/T)$ .  
Therefore,  $\Delta S_1 = (\int_{T_1}^T dT_T) = (Ln(T/T_1))$   
 $\Delta S_2 = (\int_{T_2}^T dT_T) = (Ln(T/T_2))$   
 $\Delta S_{TOTA} = \Delta S_1 + \Delta S_2 = (Ln(T/T_1))$   
 $\Delta S_{TOTA} = \Delta S_1 + \Delta S_2 = (Ln(T/T_1))$   
 $\Delta S_{TOTA} = (Ln(T/T_1))$   
 $\Delta S_{TOTA} = (T_1 + T_2) = (T_1 + T_2)$   
 $\Delta S_{TOTA} = (T_1 + T_2) = (T_1 + T_2)$   
 $\Delta S_{TOTA} = (T_1 + T_2) = (T_1 + T_2)$   
 $\Delta S_{TOTA} = (T_1 + T_2) = (T_1 + T_2)$   
 $\Delta S_{TOTA} = (T_1 + T_2) = (T_1 + T_2)$   
 $\Delta S_{TOTA} = (T_1 + T_2) = (T_1 + T_2)$   
 $\Delta S_{TOTA} = (Ln(T/T_1)) = (T_1 + T_2)$ 

$$2a) \qquad N = V \int \frac{d^3k}{(2\pi)^3} \frac{1}{e^{\epsilon_K/T} - 1} = \frac{V}{2\pi^2} \int dk k^2 \frac{1}{e^{\chi} - 1}$$

$$\Rightarrow 2k dk = \frac{2mT}{k^2} d\chi \qquad \text{where } \chi = \frac{t^2 k^2/2mT}{k^2}.$$

$$K = \left(\frac{2mT}{k^2}\right)^{\frac{1}{2}} \chi^{\frac{1}{2}}$$

$$\Rightarrow N = \frac{V}{4\pi^2} \left(\frac{2mT}{k^2}\right)^{\frac{3}{2}} \int d\chi \frac{\chi^{1/2}}{e^{\chi} - 1}$$

$$\Rightarrow N_{mag}/T) = \frac{N}{V} = \frac{1}{4\pi^2} \left(\frac{2mT}{k^2}\right)^{\frac{3}{2}} \frac{1}{2} \left(\frac{1}{2}\right).$$

$$V_{mag}/T = \frac{1}{4\pi^2 n} \left(\frac{2mT}{k^2}\right)^{\frac{3}{2}} \frac{1}{2} \frac{1}{2}$$

(same as Einstein temperature.)

c) 
$$In 2D$$
:  
 $N = (Avea) \int \frac{d^2k}{(2\pi)^2} \frac{1}{\exp(\frac{k^2k^2}{2m\tau})} - 1 = A \int \frac{kdk}{2\pi} \frac{1}{e^{x} - 1}$ 

$$x = \frac{k^2k^2}{2m\tau} \Rightarrow dx = 2 \frac{k^2}{2m\tau} kdk \Rightarrow N = \frac{A}{4\pi} \left(\frac{2m\tau}{k^2}\right) \int dx \frac{1}{e^{x} - 1}$$

$$For x small \frac{N}{A} = \int \frac{dx}{x} = \frac{1}{2m\tau} R catastrophe''$$

3a) 
$$g_R = \exp[\delta(U_0 - E)]$$
, and we expand

 $\delta(U_0 - E) = \delta(U_0) - E \frac{d\delta}{dU} + \frac{1}{2} E^2 \frac{d\delta}{dU} + \frac{1}{2} - \frac{1}{2} U_0$ 
 $\frac{d\delta}{dU} = \frac{1}{T} \text{ where } T \text{ is Temperature of reservoir.}$ 
 $\frac{d^2\delta}{dU^2} = -\frac{1}{T} \frac{dT}{dU} = -\frac{1}{CT^2} \text{ where } C = \frac{dU}{dT}$ 

Thus  $g_R = e^{\delta(U_0)} \times \exp(-E/T - 2C(E/T)^2 + --)$ 

This factor is a constant, independent of  $T_0$  is the better Boltzmann of  $T_0$  and  $T_0$  in state with energy  $T_0$  is  $T_0$  where  $T_0$  is a constant, independent of  $T_0$  is a constant, independent of  $T_0$ .

 $T_0$  where  $T_0$  is a constant, independent of  $T_0$ .

6)  $\overline{Z}_{1} = L \int \frac{dk}{2\pi} e^{-/\frac{L}{L}} \frac{k(1)^{2}}{2\pi} e^{-\frac{L}{L}} \frac$ 

c) Continue to include only the first 
$$O(\frac{1}{c})$$
 correction:

$$\widetilde{Z}_{N} = \frac{1}{N!} \left(\frac{L}{\pi}\right)^{N} \int_{0}^{\infty} dK_{1} \cdots \int_{0}^{\infty} dK_{N} \exp\left[\frac{k_{1}}{\tau}\left(K_{1}+K_{2}+\cdots+K_{N}\right)\right] \\
\times \left[1 - \frac{1}{2c}\left(\frac{k_{1}}{\tau}\right)^{2}\left(K_{1}+K_{2}+\cdots+K_{N}\right)^{2}\right] \\
= \frac{1}{N!} \left(\frac{L\tau}{\pi kc}\right)^{N} \int_{0}^{\infty} dx_{1} \cdots \int_{0}^{\infty} dx_{N} e^{-(x_{1}+x_{2}+\cdots+x_{N})} \\
\times \left[1 - \frac{1}{2c}\left(x_{1}+x_{2}+\cdots+x_{N}\right)^{2}\right] \\
= \frac{1}{N!} \left(\frac{L\tau}{\pi kc}\right)^{N} \int_{0}^{\infty} dx_{1} \cdots dx_{N} e^{-x_{1}} e^{-x_{N}} \int_{0}^{\infty} dx_{1} dx_{2} e^{-x_{2}} dx_{2} \\
\times \left[1 - \frac{1}{2c}\left(\sum_{i=1}^{\infty} x_{i}^{2} + \sum_{i\neq j} x_{i} x_{j}\right)\right] \int_{0}^{\infty} dx_{1} dx_{2} e^{-x_{2}} dx_{2} dx_{2} \\
= \frac{1}{N!} \left(\frac{L\tau}{\pi kc}\right)^{N} \left[1 - \frac{1}{2c}\left(2N + N(N-1)\right)\right] \\
= \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{1}{N!} \left(\frac{L\tau}{\pi kc}\right)^{N} \left(1 - \frac{1}{2c}\left(N(N+1)\right)\right) \\
= \sum_{j=1}^{\infty} \sum_{i=1}^{\infty} \frac{1}{N!} \left(\frac{L\tau}{\pi kc}\right)^{N} \left(1 - \frac{1}{2c}\left(N(N+1)\right)\right) \\
= \sum_{i=1}^{\infty} \sum_{j=1}^{\infty} \frac{1}{N!} \left(\frac{L\tau}{\pi kc}\right)^{N} \left(1 - \frac{1}{2c}\left(N(N+1)\right)\right) \\
= \sum_{j=1}^{\infty} \sum_{i=1}^{\infty} \frac{1}{N!} \left(\frac{L\tau}{\pi kc}\right)^{N} \left(1 - \frac{1}{2c}\left(N(N+1)\right)\right) \\
= \sum_{j=1}^{\infty} \sum_{j=1}^{\infty} \frac{1}{N!} \left(\frac{L\tau}{\pi kc}\right)^{N} \left(1 - \frac{1}{2c}\left(N(N+1)\right)\right) \\
= \sum_{j=1}^{\infty} \sum_{j=1}^{\infty} \frac{1}{N!} \left(\frac{L\tau}{\pi kc}\right)^{N} \left(1 - \frac{1}{2c}\left(N(N+1)\right)\right) \\
= \sum_{j=1}^{\infty} \sum_{j=1}^{\infty} \frac{1}{N!} \left(\frac{L\tau}{\pi kc}\right)^{N} \left(1 - \frac{1}{2c}\left(N(N+1)\right)\right) \\
= \sum_{j=1}^{\infty} \sum_{j=1}^{\infty} \frac{1}{N!} \left(\frac{L\tau}{\pi kc}\right)^{N} \left(1 - \frac{1}{2c}\left(N(N+1)\right)\right) \\
= \sum_{j=1}^{\infty} \sum_{j=1}^{\infty} \frac{1}{N!} \left(\frac{L\tau}{\pi kc}\right)^{N} \left(1 - \frac{1}{2c}\left(N(N+1)\right)\right) \\
= \sum_{j=1}^{\infty} \sum_{j=1}^{\infty} \frac{1}{N!} \left(\frac{L\tau}{\pi kc}\right)^{N} \left(1 - \frac{1}{2c}\left(N(N+1)\right)\right) \\
= \sum_{j=1}^{\infty} \sum_{j=1}^{\infty} \frac{1}{N!} \left(\frac{L\tau}{\pi kc}\right)^{N} \left(1 - \frac{1}{2c}\left(N(N+1)\right)\right) \\
= \sum_{j=1}^{\infty} \sum_{j=1}^{\infty} \frac{1}{N!} \left(\frac{N(N+1)}{\pi kc}\right)^{N} \left(\frac{N$$

$$\Rightarrow \widetilde{F} = NT \left[ ln \left( \frac{h}{nQ} \right) - 1 + \frac{N+1}{2C} \right].$$

$$\widetilde{F}_{N} = -\left(\frac{\partial}{\partial \tau} \widetilde{F}_{N}\right)_{L,N} = -\frac{\widetilde{F}_{N}}{\gamma} + N\tau \frac{\partial}{\partial \tau} \ln\left(\frac{nQ}{n}\right)$$

$$= N \left( \ln \left( \frac{NQ}{N} \right) + 1 - \frac{N+1}{2C} \right) + N$$

$$= N\left[\ln\left(\frac{NQ}{n}\right) + 2\right] - \frac{N/N+1}{2C}.$$

The correction is =superextensive (scales like square of particle number) but still is small it The reservoir is sufficiently large.

Because parts (c) and (d) of his problem were difficult, they were graded lengently.